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Text in English 

The exam consists of Question 1 and Question 2 that both shall be answered. 

In the grading Question 1 and Question 2 will have a weight of 50% each. 

 

 

OUESTION 1 

Consider a New Keynesian economy described by the following three equations: 

 

𝜋𝑡 = 𝛽𝐸𝑡𝜋𝑡+1 + 𝜅𝑦̃𝑡 

 

𝑦̃𝑡 = 𝐸𝑡𝑦̃𝑡+1 − (𝑖𝑡 − 𝐸𝑡𝜋𝑡+1 − 𝑟𝑡
𝑛) 

 

𝑖𝑡 = 𝜌 + 𝜙𝜋𝑡 + 𝑣𝑡 

 

where 𝜋𝑡 is the rate of inflation, 𝑖𝑡 the nominal interest rate, and  𝑣𝑡 a white-noise monetary policy 

shock. 𝑦̃𝑡 ≡ 𝑦𝑡 − 𝑦𝑡
𝑛 is the output gap, where 𝑦𝑡

𝑛 = 𝑎𝑡 is the log of output with flexible prices, and 𝑎𝑡 

is a white-noise productivity shock. 𝑟𝑡
𝑛 = 𝜌 − 𝑦𝑡

𝑛 + 𝑧𝑡 is the natural real interest rate, and 𝑧𝑡 a  

white-noise preference shock. 𝛽 is the subjective discount factor and 𝜌 = − ln 𝛽 the corresponding 

subjective discount rate. The three white-noise shocks are uncorrelated with each other. 

 

a. Explain each of the three equations verbally, with special emphasis on the logic behind the first 

equation, including the effects reflected by the parameter 𝜅. Use mathematical formulations as 

needed. 

b. By substituting from the third equation, describe the dynamics of this economy by a two-equation 

model on matrix form. 

c. Derive the condition under which this model yields a determinate rate of inflation. 

d. Under this condition, derive the effect on inflation, output, and the output gap of (i) a technology 

shock, (ii) a preference shock, and (iii) a monetary policy shock. Comment briefly on your results. 

 

 

QUESTION 2 

Suppose we have an economy where the productivity in the production of each traded good increases 

in the production experience of each good (Learning by doing), and also that one can learn from 

production in other countries. Assume now that the country we are looking at start to receive an 

exogenous foreign exchange income, for example oil revenues. Discuss how increased incomes from 

oil affect such an economy, and also how the economy is affected when the incomes from oil is no 

longer present. 
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Norsk tekst (bokmål) 

Eksamen består av Oppgave 1 og Oppgave 2, som begge skal besvares. 

Ved sensuren vil Oppgave 1 og Oppgave 2 tillegges 50% vekt hver. 

 

 

OPPGAVE 1 

Anta at en nykeyesiansk økonomi kan beskrives ved hjelp av følgende tre likninger: 

 

𝜋𝑡 = 𝛽𝐸𝑡𝜋𝑡+1 + 𝜅𝑦̃𝑡 

 

𝑦̃𝑡 = 𝐸𝑡𝑦̃𝑡+1 − (𝑖𝑡 − 𝐸𝑡𝜋𝑡+1 − 𝑟𝑡
𝑛) 

 

𝑖𝑡 = 𝜌 + 𝜙𝜋𝑡 + 𝑣𝑡 

 

der 𝜋𝑡 er inflasjonsraten, 𝑖𝑡 nominell rente og 𝑣𝑡 et pengepolitisk sjokk. 𝑦̃𝑡 ≡ 𝑦𝑡 − 𝑦𝑡
𝑛 er 

produksjonsgapet, der 𝑦𝑡
𝑛 = 𝑎𝑡 er logaritmen til produksjonsnivået ved fleksible priser, og 𝑎𝑡 er et 

produktivitetssjokk. 𝑟𝑡
𝑛 = 𝜌 − 𝑦𝑡

𝑛 + 𝑧𝑡 er naturlig realrente, og 𝑧𝑡 er et preferansesjokk. 𝛽 er den 

subjektive diskonteringsfaktoren og 𝜌 = − ln 𝛽 den tilsvarende subjektive diskonteringsraten. De tre 

sjokkvariablene er alle av typen hvit støy og ukorrelerte med hverandre. 

 

a. Forklar hver av de tre likningene verbalt, med særlig vekt på logikken bak den første, derunder 

virkningene som ligger bak parameteren 𝜅. Bruk matematiske formuleringer etter behov. 

b. Sett inn fra den tredje likninga i de to første og beskriv dynamikken i denne økonomien slik den 

kommer fram i to likninger på matriseform. 

c. Utled betingelse for at inflasjonsraten skal være bestemt i denne modellen. 

d. Gitt denne betingelsen, utled virkningene på inflasjon, produksjon og produksjonsgap av (i) et 

teknologisjokk, (ii) et preferansesjokk og (iii) et pengepolitisk sjokk. Gi korte kommentarer på 

resultatene. 

 

  

OPPGAVE 2 

Anta at vi har en økonomi hvor produktiviteten i produksjon av hver konkurranseutsatt vare blir 

større jo større erfaring det er med produksjon av en vare (Learning by doing), samt at en også kan 

lære av produksjonen som foregår i andre land. Anta nå at landet vi ser på starter å motta en eksogen 

inntekt i utenlandsk valuta, for eksempel oljeinntekter. Diskuter hvordan økte oljeinntekter påvirker 

en slik økonomi, og også hvordan økonomien påvirkes når det ikke lenger er noen oljeinntekter. 

 

 

 


